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Class: 12 & Number

SECOND REVISION EXAMINATION - 2025 :
Time Allowed : 3.00 Hours] 7 MATH MAT CS 7 v [Max. Marks: 90
akwa%cEa Irérwg Rgspot.com

Note: (l) All questions are compulsory.
(!!}Each question carries one mark. . s ' ,
(m)Choosg the most suitable answer from the given four alternatives 20 x 1=20

1.1f A=][ cos€ -sin@ y
[—sine cos 9] ang A4 , : ,
1 1 "~ (2) —sing (3) . cos@- - (4 2
: tan2 L . g

2ol ‘A“—*[ ’ 2] and AB =1,, then B =

(1) (coszg)A', (2) (coszg) A% {(3) (69529)1 N (4) (Sinz g’) A
3. (2021 4 ;2022 | ;2023 4 ;2024 g : iy ’

(1) ¢ SR @ 1 g B -1 > 4y, -

4.Ifzisa c_omplex number such that z € «:\IR“ and z +§ é,R “then |z] is

=00 ey T @) 8 @ 3
5.Azeroof x3+343 s ' it XN | |
RN T @ 0 @ -7 @7
6.1f x*+12x? + 10ax + 1999  definitely has positive zero, if and only if - |
LR ezl @l as of Mg B) a0 T @ a0
7. The value of - 'cbs‘l(cosx),os,xsﬂ”. is. ) .‘ '

RS PR e, T T TSR
8.The domain_ofthefuhctiqn defined by f(x) =sin"lvx—1 is " o d

S0 2] NS AL @ o) Ty )
9.The radius of the Circle, 2x2+2y?+6x +'4y+2='0 1Rt : : ;

(1) -1 N @ s v @ VBl @ T
-.10. Area b_f the greatest rectangle inScibe_d _'in;th’é elli'plse 2, z—z + z—: =1'is :

()i xr2al "5 toe i (201 :05@b § 5 % (@)1 b, G gy e
11.DistanCe from the origin to the plana’ 3x — 4y + 12z —5=0 is -

) T Oy (2) it < A9) TETS s e )3
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12.1f d,b, ¢ are non-coplanar unit vectors such that & x (bx¢&) = b——, then the angle
_ between @ and b is

2T

(4 14 b9

(1') .y 2 3 (-5 @

13. The abscissa of the point on the curve f(x) =+v8— 2x at which the slope of
‘the tangent is —0.25

, (1) -8 SO T e (@) 2 @0
14. Angle between y? =x and %2 =1y at (1,1)is : :
M e @ wr@®) @ I @ 3

15. The approximate change in the volume V of a cube of s:de x metres caused by
increasing the side by 3% is

() 09xdxm® (2)  0.09xm®  (3) 0092 M  (4)  0.09x*m?
Y 2 - : ' )
16. The value of [ |x|dx is ‘ .

1 3 5 & 7

e : @ i @ 2 @ 3
17. The area between y? =8x and its latus rectum is

' 32 ‘ 16 2 64 8"

(1) = | 2 OGS 4) -3

18. The solution of .% = 27"% s

(1) 2*42=C (2 2% — 27 =C @B 2-X=c @ =x+y=cC

2x 2y
19. If the function f(x) == for a<x<b, represents a probablhty density function of a
continuous random varnable X, then which of the following cannot be the value of a
and b? '
(1)0 and 1 " (2)5and 17 (3)7 and 19 (4)16 and 24
20 Inaset Q define a®b=a+b+ab. Forwhatvalueofy, BO(yOS) =77
(1) y—- @ y=-3 @) y=-2 @ y=s
LR | SECTION-B - : »
Note: (i) Answer any 7 questions. * ] R : 3 7% 2=14

- (i) Question No: 30 is compulsory:
21.1f4 = [ 8\ ’4], Verify that A(adjA) = (adjA)4 = |AJL.
22, If [z] = 3, showthat7<|z+6 8i|<13. }
23. Show that the equation x° — 5x5 + 4x* + 2x2 +1 =0 has atleast 6 i lmaglnary §

solutions.

24 _ﬂ)_

24. Find the value of sec 3 )

»
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- 25. The orbit of Halley's Comet is an ellipse 36.18 astrohomical units long and by 9.12
astronomical units wide. Find its eccentricity.

26. Verify whether the line =2 = ¥* 2 lies in the plane x ~y +z = 8.

27. Evaluate - lim ﬂ) :
x50\ X

* 28. Find the volume of a right-circular cone of base radius rand height h.
234y _ |
29. Solve (1 + x )L =1+y%

30. Find the inverse the non-singular matrix A = [_01 :2] by Gauss-Jordan method.

| - SECTION-C
Note: (i) Answer any Seven Questions. '
akwaacademy.blogspot.com

(ii)  Question No.40 is compulsory
31. Find the cube roots of unity.

‘32. Solve the equation 2x3 + 11x2 — 9x — 18 = 0.

7x3=21

33. Prove that g <sin"lx+4+2coslx < 325

34. If the equation 3x2 + (3 — p)xy + gy — 2px — 8pg = 0 revpr_e,sents acircle, find p and q.
Also determine the centre and radius of the circle. |

35. Prove that [d x b,b x &,¢ x d] = [d,b, &), -

36. Find the points on the curve y = x® — 6x? + x + 3 where the normal is parallel to the line
X +y=1729.

37. f ux,y) = 222, prove that x%— +yZ= %u.

Vx+y dy
38. Solve :%1—' = (3x+y+4)2. |
39.  Arandom variable X has the following probability mass function:
X 1 2 3 4 B
o) | ke 2k2 | 3k? 2k 3k
Find (i) the value of k . (i)P(2 = X <5)

40, Very (4B)T =BTATwith A= [} 1p=[* 3]
" ' SECTION -D

" Answer all questions of the following: o 7x5=35 .
41.(a) Find the non-parametric form of vector equation, and Cartesian equation of the plane

. : : x=1 __y+1 _ z-3
passing through the point (2,3,6) and parallel tq thg straight lines i ke
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(b) If the curves ax? + by? = 1 and cx? + dy? = 1 intersect each other orthogonally if,
1 1 1 1 :

a b c d .
42. (a)A rod of length 1.2m moves with its ends always touching the coordinate axes. The

locus of a point P on the rod, which i |s 0.3m from the end in contact with x -axis is an
ellipse. Find the eccentricity. : - (OR)

(b) Find the dimensions of the Iargest rectangle that can be inscribed in a semi circle
of radius » cm.

43. (a) If a1, @, a, ... a, is an arithmetic progression with common difference d, then prove

it an o (20 s () vt ()] 25 o)

‘(b) Invest[gate for what values of A and i the system of linear equations x + 2y + z=17, |

x+y+iz= #,x +3y — 5z = 5 has (i) nolsolutlon (i) a unique solution (jii) an infinite ,
number of solutions.

44. (a) Find a ‘polynomial equatlon of m|n|mum degree with ratlonal coefficients, having
V5 —V3 as aroot. A d (OR)
(b) If V(x y) = e¥ (x cosy —ysin y) then prove that — 0.
45, (a) Find the area of the region bounded between the parabelas yi= 4x and x2 = 4y.(OR)
(b) If 4 and o are the mean and variance of the discrete random variable X
and E(X+3)=10 and - E(X + 3)%= 116, find 4 and o2 '
46. (a) Therate of i increase in the number of bacteria in a certain bactena culture is

proportlonal to the number present, Given that the number triples in 5 hours find how
‘many bactena will be present after 10 hours? ' : (OR)

(b)Ifz—x+Lyandarg(z );_ show that x2 +y2—4.

47 (a) By vector method ,prove that sin(A + B) = sinA cos B +cosA sinB (OR) :

(b) Venfy (l) closure property, (ii) commutative property, (i) assocuatlve property, ’
(iv) existence of identity, and (v) existence of inverse for the operatlon +50n Zs usmg
table correspondmg to addmon modulo B imts
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